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Describe the properties of a good refrigerants.
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Time : 3Hrs. Sem. III - Agri. Engg.
Refr. & Air Cond.
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |
Answer all Five questions from Group C, each question
carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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10.
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Draw a line diagram of air conditioning system (ii)
required in winter season. Explain the working of

different components in the circuit.
6

¥Q kg W YUY ddrgaed dF ST @A
i | yRuer & fafyr=1 sqaal & &t gomell
@ GRAT BN | (iif)

OR (372141)

In a winter air conditioning system, 100m?3 of air,

per minute at 15°C dry bulb temperature and 80% (iif)
RH is heated until its dry bulb temperature is

220C. Find heat added to the air per minute.

s 3 qrargEas a9 7 100 Hex® gar qeo

gfa e @1 <X 9 15°C b ded drgdrE wR

Tqd 80% 3MRo Ydo WR ¥ fHar wirar 2 i i)
a® & SUST IYH ged ATUAT 220C AT &8I

oimg, 9y # yfa fise st T ST Fra W |

Show that c.o.p. of a Bell -coleman cycle is
given by expression: 6

3 1611304
THodTSo D H 1 URDA oo D
IXIEY AT 2 |
(@) IN/m2
(€) 100 Kpa

(|) 1x10° N/m2
() 1x10° N/m2

Heat is absorbed by a refrigerant during a
refrigerantion cycle in:

(a) Condenser

(b) Throttle valve

(c) Evaporator

(d) Compressor

Superheating of vapour refrigerant in evaporator

during vapour compression eycle.
(a) Decreases COP

(b) Increases COP

(c) Decrease refrigeration effect
(d) Increase work input

P.T.O
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GROUPC (vi)

Answer all Five Questions.

Il uig gl & SR o

7. The cop of a vapour compression refrigeration

6x5=30

system is 3. if the compressor motor draws a power
of 10.5 KW at 91% motor efficiency , what is the
refrigeration effect in TR of system?
6 (vii)
Ud ard "l yefided a3 &1 Hlodilo o 3
2 IR Ads® 91% Alex drRIaHar R
10.5 KW 2f$ U8 &ar @ df 89 a9 @
gfide (TR) Y919 T BT ? .
Vil

OR (3721d1)

Define refrigerating effect and one tonne of

refrigeration.

g3fias Y9I a1 UH o gfiided &) (viii)
Ry vy |

5 1611304

9 ga1 & ferg afs S &1 99 15°C
¥, 9 ft & &1 A 15%) Td A

& &1 A W 15°C 81 A AqW dgEH
ST |19 BT

(31) 15°C

(@) 25°C

(®) 10°C

(@) 35°C

In summer air -conditioning, the air is :
(a) Cooled

(b) Cooled and dehumidified

(c) Heated and humidified

(d) Cooled and humidified

(31) s=1

@) de1 va feegfafswras
(@) T vd sgfafswrrs
(g) o1 vd syfifswras

During cooling and humidification process
in air conditioning

(a) DBT deerease

(b) RH derease

(c) DBT increases

(d) None of the a above
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OR (3r2r1ar)

Define the following:
(a) Relative humidity
(b) Dew point temperature

=1 &1 9vf &Y |
(31) \Tder Srrer
(@) s areE

Show the following process on the psychrometric
chart.
(a) dehumidification of moist air by cooling. 4

frr=faRaa &1 ST aseidifcs g w®
gafRfa &Y |
(31) =fider ufshar gRT <19 &a1 &1 FRIdTaRor

OR (3721d1)

When is dehumidification of air necessary and how

it is achieved.

NT3005

x)

(xi)

(xi)

(xii)

7 1611304

frafafaa & 4 <19 a1 gdfas 3=
i fada g Av—<aaeha 27

(31) NH,Td SO,

(@ Co,wd SO,

(@) CO,Td SO,

() F-12 v@ NH,

In sensible heating or cooling process
............ remains constant.

(a) Dry bulb temperature

(b) Wet bulb temperature

(c) Humidity ratio

(d) Relative humidity

AfRrea 1 vd ST w1 @ yfhar ¥

For an irreversible process, the entropy of
the system is :

(a) Zero

(b) Increased

(c) Decreased

(d) None of the above
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xx) a9 yfpar &1 fafea & s wm=G: (xiv) YT BTeli9 ara&ed & forg |
¥fid qrargEeT 9 Bidl 2 | ATl BT A .......... g $H T8l B
(31) AR ©u A W BT Arfay |
@) e Rrdter @1) 40%
SIEIEERY &) 60%
(®) fRrdtaRor @ |1 1 H=e @) 75%
() 90%

(xv)  Which of the following refrigerant has the
lowest boiling points?
(a) Ammonia
(b) Carbon dioxide
(¢) Sulpur dioxide
(d) Freon -12

xv) fr=ifea § 4 @19 4 gufiias &1
e g =g=aq ghar 272

GROUP B (31) st }
(@) HrdT SIZATTEIES
Answer all Five Questions. (4) TeBx SIZITRNISS
4 x 5=20 % L%
ot ufg gyl & SR & (<) Prail—12
2. Define thermodynamic property, path, process and (xvi)  Which of the following refrigerant is highly
cycle. toxie and flammable?
4 (a) Ammonia
(b) Carbon dioxide

ST Ifaet,urer, ufshar ved g% 1 aRwifa (c) Sulphur dioxide
N | (d) Freon -12

P.T.O



O'Ld

uonedIpIINyap |PIM Junesy (p)
uonesyIprungy (o)

UOTBOLIPIIUNYP [eo1ay) (q)
Suneay o[qrsuag (&)

“3UIuIONIPUOD I8 IdUIM Ul paonoeld
A[Te10uagd st yorym ssod01d ayy AJriuapy

Utk bbRhe (b)

bl Bhlk (B)
ElkhID bob dxfz (b)

Qi 1 Rib ()
2B Ee Ly

@M PbRK AR| ¢ 1kP|R RYbbIk

dA0qe 3y Jo [TV (P)

Aypruny aAne[ay (9)

armerodwo) qung L1(q (q)

uonow Iy (8)

"JI0JUWIOd UBWINY JOJ J03J8J AU} dIe YIIYA

i bofha ()

b LRGLIDID Be (B)
b 2% 221b (b)

k @byah Pan (k)
12 @ ItlRhe

(xx%)

(x1%)

(x1%)

1P |PL 1@I3le b he @ kR MRA (1AX)

POETIOI 11

S00€LN

aA0qe 3y Jo [1v (p)
SIQUONIPUOD IIe WOo0Y (9)

S19]009 1918 (q)

$10JeI9311Ja1 o13soWO(] (B)

:ul pasn

SI “001A9p uoIsuedxa ue se ‘oqm Are[ides oy,

Blk 2 3l (2)
janlie (1)

L1l (b)

22X ()

|2l {213~ lk|}r hiD | SShR
2R} & prd ik olpolieolfr hbbag

anpea Auy (p)

wnwndQ (9)

M0 (q)

YsTH (&)

: 99 prnoys Jossaxdwod jo o3uer
armyerodwoy o ‘dod y3ry Surureyqo 104

cl—Lliedy (2)

S3IRbIe31S AR (R)

S3|hblleSls bpld (b)

IRkjikie (k)

¢@ RUakRbn bd 1RRb]

PRI ®bah 1h— Bl [k bl

S00ELN (1]

(1m1ax)

(11ax)

(11ax)

(1ax%)

YOETIoN



	1: 20 - 1
	2: 2-19
	3: 18-3
	4: 4-17
	5: 16-5
	6: 6-15
	7: 14-7
	8: 8-13
	9: 12-9
	10: 10-11

